Paper : Scandent Solutions Paper Pattern (General Aptitude)

General Aptitude:
1) (3 km 405m 76cm)/(10km 217m 28cm)
a) 1.3km
b) 1/3
c) 1/8
d) 33/3
e) none of these
2) find the middle term 5,15/2,..,25/2,15
a) 10
b) 9
c) 23/2
d) 8
e) none of these
3) The principal amt is 10,500 has given for interest the amt in first year is 11,025 and in second year it 11576.25 what is the rate of interest
a) 5%
b) 4%
c) 2%
d) 3.5%
e) none of these
4) the temperature in first three days of the week is 27 and the next three days is 29 and the average temperature of the week is 28.5 what is last day’s temperature
a) 31.5
b) 42
c) 41.5
d) 27.5
e) none of these
6) 1/16 of a number is 51 .which is 50% greater than the other number .
a) 824
b) 926
c)816
d) 786
e)none of these

7)In a triangle (B+C) = 130 find A IF Angle A = Angle C
a) 80
b) 60
c) 70
d) 50
e) 30
ans: if it is to find A 50 find b 80 
8) find the area of the triangle height 6cm and base is 11cm
a) 66 cm2
b) 33 cm2
c) 99cm2
d) 60cm2
e) none of these
9) In a bag there are 10paise ,20 paise,25paise coins are in 7:4:3 respectively .They altogether amounts to 90/- .How many 25paise coins were there.
a) 120
b) 180
c) 160
d) 30
e) none of these
10) In a den there were Pigeons and Rabbits and altogether 20 heads and 48 feet are there. So how many pigeons were there
a) 16
b) 14
c) 8
d) 12
e) none of these
12) In mixture of Acid and Water they are in the ratio of 1:4 in one container and in other they are in the ratio 4:5 what ratio of the content is added to get the ratio of 2:7
a) 1:10
b) 10:1
c) 3:5
d) 2:7
e) none of these
13) If “Foot Ball” is Cricket , Cricket is Basket Ball ,Basket ball is volley ball ,Volley Ball is khokho and khokho is cricket which is not a ball game
a) cricket
b) khokho
c) basket ball
d) Volley ball
14)Leopard is 200 m away from the deer . Deer runs at 10km/hr and Leopard runs at 12km/hr after how many km from its starting position the deer can b caught
a) 3km
b) 5 km
c) 1km
d) 2km
e) none of these

15) A man can swim downstream at 6km/hr and upstream at 2km/hr his speed in still water is
a) 4 km/hr
b) 2 km/hr
c) 6 km/hr
d) 1 km/hr
16) One question tat is based on figure I didn’t get the question itself 17 sum of the roots of a quadratic equation ax2+bx+c=0 n the is equivalent to  so and so n a/b ,b/c c/a these r in which progression(I don’t remember question properly)
a) AP
b) GP
c) HP
d) None of these
18) Express 12.5% in fraction
a) 1/16
b)1/8
c) 1/4
d) 1/32
 Technical Aptitude
1) what is the output of the following
class Welcome
{
public static void main(String args[])
{
String welcome = “welcome to scandent” ;
welcome.substring(12,18);
System.out.println(welcome);
}
}
a) scandent
b) to scandent
c) welcome to scandent
d) none of these
2) which of the following class cannot be sub classed
a) abstract class Key{ }
b) final class Key { }
c) class Key { }
d) static class Key{ }
e) none of these
3) Protected method can be overridden by
a) private method
b) public method
c) protected method
d) all of the above
4) public method can be overridden by
a) public method
b) private method
c) protected method
d) all of these
5) what is the correct form of a method in an interface
a) public abstract A ()
b) public final A ()
c) class A ()
d) public abstract final A()
6) which of the following statement(s) is true regarding Thread
a) A dead Thread can be restarted
b) A dead Thread cannot be restarted
c) Both a and b
d) None of these

7) Why might you define a method as native?
a) To get to access hardware that Java does not know about
b) To define a new data type such as an unsigned integer
c) To write optimised code for performance in a language such as C/C++
d) To overcome the limitation of the private scope of a method
Which of the following statements are true
a) An inner class may be defined as static
b) An inner class may NOT be define as private
c) An anonymous class may have only one constructor
d) An inner class may extend another class
9) what is the o/p of following?
Class A{
Public static void main(String args[])
{ String s=”scandent”;
String s1=s.substirng(2,5);
System.out.println(s1);
}
}
a)”ande”
b)”and”
c)scandent
d)ent
10)which of the following is true?
a)&& is a short circuited operator
b) ~ operator is a bitwise and short-circuit operator
c)>> is not a right shift operator
d) | is a short circuited OR operator
11)which of the following are signed integral types?
a)char,int,long
b) char,int,byte,short
c)int,short,byte,long
d) none of these
12)what is the output of following?
Class xyz{
Public static void main(String args[1])
{
char c=’a';
System.out.println(args[0]);
}
}
13) which of the following is true
a) continue will abandon the loop altogether
b) break will abandon the loop altogether
c) break will abandon the current loop statement
20) The remaining questions are based on XML tags I don’t remember the questions but it was ok

 

